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QUESTION 1

Refer to the graphic. Two hosts communicate through a GRE tunnel. When the GRE tunnel is up, the network
administrator configures a static route on RTA to route packets to Host B. Which of the following commands will achieve
this?

A. ip route-static 10.1.2.0 24 GigabitEthernet0/0/1

B. ip route-static 10.1.2.0 24 200.2.2.1

C. ip route-static 10.1.2.0 24 200.1.1.1

D. ip route-static 10.1.2.0 24 tunnel 0/0/1

Correct Answer: D

QUESTION 2

Which of the following flow control methods can be used in the transport layer of the OSI reference model? (multiple
choice)

A. Confirmation technology

B. Cache technology

C. Source suppression message
D. Window mechanism

Correct Answer: BCD

QUESTION 3

VLSM can expand any IP network segment, including Class D addresses.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 4

Two routers are connected through serial interfaces and support PPP encapsulation. Which parameters must be
negotiated to establish the PPP connection? (Choose three).

A. MRU

B. Authentication password
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C. Magic-Number
D. IP address

Correct Answer: ACD

QUESTION 5

Referring to the following topology and configuration, routers R1 and R2 are connected through a Serial low-speed
cable, and the data link layer uses PPP. When R1 and R2 When the Holdtimes are inconsistent, ARP negotiation fails
and communication cannot be performed.

R1 R2

S0/0/0

202.10.1.1
R 1]irﬂeda¢g Ser'rgll{{!i?fﬂ
[R1-Serialg/0/0] ip address 2D2710.1.1 255.255.255.0
[R1-Serial0/0/0 T trfier higid 2
H

[R2]interface Serial0/0/0
[R2-Serial0/0/0 | ip address 202.10.1.2 255.255.255.0

A. Correct
B. Error

Correct Answer: B
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